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THE LADY IS A TRAMP
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THE LADY IS A TRAMP

Piccolo

Flutes1-2

Oboes 1-2

Clarinets in Bb 1-2

Bassoon 1

Bassoon 2

Horns in F 1-2

Horns in F 3-4

Trumpet in Bb 3

Trumpets in Bb 1-2

Trombones 1-2

Trombone 1

Trombone 2

Trombone 3

Drum Set

Voice

Piano

Jazz Guitar

Bass Guitar

Violin 1

Violin 2

Viola

Violoncello
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  

  

  
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 
 
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
 

 
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
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




       
       


  

   
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      
  


  

   
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  
             

       
       

      
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 

  
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      

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 
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
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              


               
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     

       
           

   

   

   
   

           


